Quadratic Factorisation

Section A — Expand:
D x+7)(x+2)
2) (x+8)(x+4)
3) (x = 3)(x = 5)
4) (x+5)(x —2)
5 (x—4)(x+7)
6) 2x+4)(x—7)
7) (4x — 6)(x — 9)
8) (5x —6)(2x + 3)
9) 3x—7)(2x + 6)
10)(4x + 1)(3x — 8)
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Method 1
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=x®+4x+2x+8
=x%2+6x+8

-Section C - Factorise:
1) x° —9
2) x 2 — 64
3) x x? — 144
4) x 2121
5) x2 — 25
6) 2 - 49
7) 2 -81
8) 24
9) x*-1
10)x — 36

&.@amn P@mt 1 Section B - Factorise:
D) x*+7x+10
n+7n+10\ 2) x*+5x+4
IR, 110 (3 a2+ 7x+ 12
Add to
ﬁ 4) x%—7x+12
5) x*+6x+8
SUDDOt 7) x%*—2x—8
12,9 2 _
Mathswatch El!z}? 31 el 8) xz 6x + 8
Corbett maths Video 118 il 9) x“+ 15x + 36
10) x* —8x + 16
Method 2 ﬁ”w\) Factorise:
pXxp px-7 Z) 2x2+11x+12
Scarimaths
SN 2) 3x2+10x — 8
+3XP +3x -7 , 3) 3x2+7x+2
=p’-4p-2I 5) 6x°+7x+2
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6) 8x%—10x — 3
7) 2x%+5x+3
8) 3x*+8x+4
9) 3x%>—5x—2
10) 4x* — 3x + 10




